%William Owens
%July 1, 2009
%ECE 301
%HW 2 Prob 7
xt = input('Input the values for the first signal'); %Input Signal
ht = input('Input the Values for the second signal'); %Signal to be flipped and shift
lxt = length(xt); %The length of the signal inputed by the user
lht = length(ht); %The length of the signal inputed by the user
xt1 = [xt,zeros(1,lht)];
ht1 = [ht, zeros(1,lxt)]; 
for (i = 1:lxt + lht - 1)
    y(i) = 0;
    for (j = 1:lxt)
        if(i - j + 1 > 0)
            y(i) = y(i) + xt1(j)*ht1(i-j+1);
        end
    end
end
fprintf('The Results of the convolution')
y
